Exercise 3.25

Thursday, 3 September 2020 16:11

This is problem 3.23 in the second edition.

For an eigenvalue E of H, we have

 $\hat{H}|\Psi\rangle = E|\Psi\rangle$, where $|\Psi\rangle$ is the eigenvector corresponding to ELet $|\Psi\rangle = \zeta_1 |I\rangle + \langle_2 |2\rangle$

$$\begin{aligned} \mathcal{T}_{e_{n}} \quad \hat{H} / \psi \rangle &= \varepsilon \left(1 \ge \langle 1 | - | 2 \rangle \langle 2 | + | 1 \ge \langle 1 | 2 \rangle \langle 1 | 1 \rangle + \langle 1 | 2 \rangle \right) \\ &= \varepsilon \left(\langle 1 | 2 \rangle - \langle 2 | 2 \rangle + \langle 2 | 2 \rangle + \langle 2 | 2 \rangle \right) \\ &= \varepsilon \left(\langle 1 | 2 \rangle + \langle 2 | 2 \rangle + \langle 2 | 2 \rangle \right) \\ &= \varepsilon \left(\langle 1 | 2 \rangle + \langle 2 | 2 \rangle \right) \\ &= \varepsilon \left(\langle 1 | 2 \rangle + \langle 2 | 2 \rangle \right) \\ &= \varepsilon \left(\langle 1 | 2 \rangle + \langle 2 | 2 \rangle \right) \end{aligned}$$

 $\mathcal{E}\left(\mathcal{C}_{1}+\mathcal{C}_{2}\right)=\mathcal{E}\mathcal{C}_{1}\qquad \mathcal{E}\left(\mathcal{C}_{1}-\mathcal{C}_{2}\right)=\mathcal{E}\mathcal{C}_{2}$

 $C_{2} = \frac{E_{c_{1}} - \varepsilon C_{i}}{\varepsilon} \qquad C_{i} = \frac{E_{c_{2}} + \varepsilon C_{i}}{\varepsilon}$ $= \left(\frac{E_{c_{1}}}{\varepsilon} - i\right)C_{i} \qquad = \left(\frac{E_{c_{1}}}{\varepsilon} + i\right)C_{i}$ $C_2 = \left(\frac{E}{\epsilon} - i\right) \left(\frac{E}{\epsilon} + i\right) C_2$ $I = \left(\frac{E}{\epsilon}\right)^2 - I$

 $\left(\frac{E}{\epsilon}\right)^2 = 2$

 $\frac{E}{\varepsilon^{-1}} \frac{1}{2} \sqrt{2}$



 $E = \pm \sqrt{2} E$ $C_{1} = E_{1} - E_{1}$ $= \frac{\pm \sqrt{2} \varepsilon c_{i} - \varepsilon c_{i}}{c}$ $=\left(\frac{\pm\sqrt{2}}{\sqrt{2}}-1\right)\zeta,$ C, is an arbitrony member

 $|\Psi_{\pm}\rangle = \zeta_1 \left(|1\rangle + \left(\frac{1}{2} - 1 \right) |2\rangle \right)$

explanation is lecture 4

 $M_{mn} = \langle m/H | n \rangle$; $H = \varepsilon (1 > <1 - 12 > <2 + 11 > <1)$ $\mathcal{H}_{11} = \langle 1 | \hat{\mathcal{H}} | i \rangle = \epsilon \langle 1 | i \rangle \langle 1 | i \rangle - \langle 1 | i \rangle \langle 2 | i \rangle + \langle 1 | i \rangle \langle 2 | i \rangle + \langle 1 | i \rangle \langle 1 | i \rangle \rangle$ **Z E** $H = \epsilon \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix}$